94 IMFR7—1r517

(2| @ATS | @ATSH ‘| @ATSM
N\
[I; Fa-TH4Z % Fa-TH#4R ; Fa-TH4Z
| 1F bk
k 4 R 4 L 4
bk 6 | 6
8 Il/ 8 b 8
10 k 10 10
12 12 12
16
(11018 AV) (12108 AL))
= @AUK % @AUKM T @ATL
EE T o o
a Fa-TH4R (=] Fa-TH4% R F1-7H4%
= EE
* 1 4 a
> =) 6 6
8 f 8 =) 8
10 10 \.@, = 10
12 12 =~ 12
AE TV (BTILZAL) Foy b EER (R - %)
Fu bR (ERD - %)
(1210 AV)) (15101 AV) (11018 AV)
O OATLL = OATT 5 OATB
~ ) 1 |z L
5 Fa-TH4X | F1-TH4X > F1-TH(X
aC F
I 4 4 = 4
i 6 6 ;r 6
8 8 SN 8
10 10 ‘)}M 10
S 12 12 12
N~
(12108 AL)) (15101 AV) (121018 AV)
> @ATBY e @ATBLY 5 @ATBW
2 7 N 7 o
b F1-TH(Z > F1-TH(Z > F1-TH4Z
F ¥ F
] 4 T 4 2 4
1 6 % 6 B 6
10 e 10
12 12
(1551018 AV) (151018 AW) (1101 AW)




94 IMFR7—1r517

J @ATBE 7 @ATBEW 7 @ATBZ
> 1z e Z )
> Fa-7H4Z | F1-TH4X > F1-7H41X
5F SF 55
~ 6-4 k 8-4 ES 2
Y 8-4 N 8-6 b 6
)7[/ 8-6 }7[/ . 106 7 8
' _108 x| 4 108 10
7 ‘j 12
Jb
(1581018 AV)) (1581018 AV)) (1581018 AV))
5 @ASKR
BE
L F1-TH4R
=
a 4
| 6
Y 8
10
12
(15118 AY))




O@ATS ENES

F1-THX
ATS — —D

4
— L
8 D : BN H

O A (R#ER) & D (Bidmfs) OFR
B U
fERF 21— T DR

T—TTN‘

10
12
16

(142101BAW)

Tﬁf (mm)

AL=—b :
y o F1-THE x4l #7428 =1
ATS fiz X 6D R A B L C | Hex | ®P G
ATS4-M5-D 4 |M5x08] 28 [19.8] 17 [149] 10 | — | 24 5.6
ATS4-M50-(] | 4 |M5x0.8| 2.8 [22.7[199[149| 8 |97 | 24 6.1
ATS4-M6-D 4 M6x1 | 3.8 |20.8] 17 [149] 10 | — 3 6.0
ATS4-01-D 4 R1/8 | 8 | 21 | 17 |149] 10 | — 3 7.4
ATS4-02-] 4 R1/4 | 11 |225/165|149| 14 | — 3 16
ATS6-M5-D 6 |M5x0.8| 28 |21.9/191| 17 | 12 | — | 24 8.1
ATS6-M6-D 6 M6x1 | 38 |229[19.1] 17 | 12 | — 3 85
#D ATS6-01-D 6 R1/8 | 8 |223/183| 17 | 12 | — 5 8.2
Hex. 7T ATS6-02-( ] 6 R1/4 | 11 |237|17.6 17 | 14 | — 5 15
o ATS6-03-] 6 R3/8 | 12 |245|18.1 | 17 | 17 | — 5 28
_| o ATS8-01-[] 8 R1/8 | 8 |27.9|239/182] 14 | — 6 14
o i ATS8-02-] 8 R1/4 | 11 |26.6|20.6/18.2| 14 | — 7 14
=== ATS8-03-(] 8 R3/8 | 12 |255|19.2/18.2| 17 | — 7 25
< /N ATS10-01-(] 10 R1/8 | 8 [30.3]26.3/20.7| 17 | — 6 21
ATS10-02-( ] 10 R1/4 | 11 |29.8|23.8/207| 17 | — | 85 19
ATS10-03- ] 10 R3/8 | 12 |29.3| 23 [20.7| 17 | — 9 24
ATS10-04-( ] 10 R1/2 | 15 |30.4|22.2 /207 | 21 | — 9 46
ATS12-02-[] 12 R1/4 | 11 |359|29.9 /233 21 | — | 85 37
ATS12-03-[] 12 R3/8 | 12 [31.9|256(233| 21 | — | 11 30
ATS12-04-[ ] 12 R1/2 | 15 |339|25.7(233| 21 | — [ 11 44
ATS16-03- 16 R3/8 | 12 |39.3| 33 |248| 24 | — | 11 54
ATS16-04-[] 16 R1/2 | 15 |41.3/33.1/248] 24 | — | 13 63

D SERERO A, - (=>ERA (E%R) & D (BihETHE) OEIR
*F—XR UM TOLTER, UM TBOBETETT,

ATS4-M50

KOGRANEI



@ATSH ANELES
Fa1-TH4R
4 ATSH — —D

N i
8 D : ZhHEOH

10 [ |EEA (B%ER) & D (Bt OER
T &k U
fERAF 21— T DIE

=TT NESHR |

(142101BAW)

Tﬁf (mm)
INATYIA L—b

L F1-THB popul] TV742%| BE

ATSH s =K ®D R A B L © Hex. oP (o | (9
ATSH4-M5-D 4 M5X0.8| 2.8 [19.7]169]149| 25 |97 | 26 4.6

ATSH4-M6-D 4 M6x1 | 38 |20.7|169|149|25%| 97| 26" 5.4

ATSH4-01-D 4 R1/8 8 | 20 | 16 |149| 25 |97 | 26 6.6

ATSH6-M5-D 6 M5X0.8| 28 [21.3]/185] 17 | 25 |11.8| 2.6 5.6

ATSH6-M6-D 6 M6x1 | 38 |223|185| 17 | 3 |11.8| 3.2 6.3

ATSH6-01-D 6 R1/8 8 |221(181| 17 | 4 |11.8| 4.2 7.6

ATSH6-02-[ ] 6 R1/4 11 |21.3[152| 17 | 4 |13.7| 4.2 13

ATSH8-01-[] 8 R1/8 8 |259(219|182| 5 |13.7| 53 8.8

ATSH8-02-] 8 R1/4 11 |25.1]19.1(182| 6 |13.7| 6.3 13

ATSH8-03-[] 8 R3/8 12 |222[159|182| 6 |16.8| 6.3 19

ATSH10-02-[] 10 R1/4 11 129.8(/23.8(20.7| 6 |17.5| 6.3 20

ATSH10-03-[] 10 R3/8 12 |293| 23 |20.7| 6 |175| 6.3 26

ATSH10-04-[] 10 R1/2 15 130.3/22.1|20.7| 6 |20.8| 6.3 45

3 ATSH12-03-[] 12 R3/8 12 131.9(256|233| 8 |20.8| 8.4 31
m ATSH12-04-[] 12 R1/2 15 |33.9|25.7|233| 8 |20.8| 8.4 45

HARNALCFFHICELZO00IMAERERET S0, ARANAMNTEREL., 7V 71 XABPERICLY F
L7

D SEREHO A, -[(J>EFBA (BER) & D (Bmit4) R

*F—XR UM TOLTER, AU TBROSETETT,

A— KR LCEAT

KOGRANEI



@ATSM ENES

19}
El o
2 F1-FH4R
) i ATSM [ —[ ][ |
| 6
b A : R
10 D Bt
12 EHLL
AT 1—TOHE
(1L10BAV)
Tﬁf (mm)
HFTAL—F e - ——
ATSM A h(bg“i Rc | A | B | E |¢P1|eP2| C i’f T ’&7”:;‘)1 %5
ATSM4-01-] 4 |Rc1/8] 7 |239| 10 | 9.7 |13.8/149] 14 | 5 3 13
ATSM4-02-[] 4 |Rc1/4] 95269 13 | 9.7 [16.8/149] 17 | 6 3 19
ATSM6-01-] 6 |Rc1/8] 7 | 26| 10 [11.8[138] 17 ] 14 |5 5 15
ATSM6-02-[] 6 |Rc1/4] 95|29 13 [11.8[168] 17| 17 | 6 5 21
ATSM8-01-[] 8 |Rc1/8| 7 |27.2] 10 [13.7]/13.8/182] 14 | 5 7 16
ATSM8-02-[] 8 |Rc1/4]95|30.2) 13 [13.7/16.8/182]| 17 | 6 7 22
ATSM8-03-[] 8 |Rc3/8[10.5(31.2] 14 [13.7]20.8]18.2] 21 |65 7 30
ATSM10-02-] | 10 |Rc1/4|95|32.7] 13 [17.5/16.8/20.7] 17 | 6 9 28
D ATSM10-03-C]| 10 |Rc3/8|10.5/33.7| 14 |17.5/20.8/20.7| 21 |65 9 37
%T ATSM12-02-] | 12 |Rc1/4|9.5|34.8/135|20.8/16.8/23.3| 21 |65 11 | 42
‘J;E%' ATSM12-03-C]| 12 |Rc3/8[10.5/36.3] 14 [20.8/20.8/23.3] 21 [6.5] 11 44
oP1[ 1] © ~O>\EA (2ER) & D (Fmtt) OER
m s
WO <
Hex P2 Rc

KOGRANEI



| @AUK EXES
BE
Al F1-TH4Z
- 2 AUK —D
> 6
y 8 D : #HTHEDH
10 O: |\ A (ER) & D &mtd) ORR
12
A 7L (BTN FERF1—TDHE
Fu bR (ERD - %)
(152101AAY)
Tﬁf (mm)
fREED—HF~ .
. F1-T5% popul 1)742%| B2
AUK % =X ®D M B E A oP | C Hex. T ()| (=
AUK4-D 4 M12x1/30.8| 95 |14.8|10.8|149| 14 | 4 3 11
AUK6-D 6 M14x1/349| 95 | 19 |125| 17 | 17 | 4 5 16
AUKS-[ | 8 M16x1/37.4|105|19.4| 146|182 | 19 | 4 7 19
AUK10-[ ] 10 |[M20X1/42.4(119|216|185(20.7| 24 | 5 9 35
AUK12-[ ] 12 |M22X1/47.6(13.2|24.2|20.4|23.3| 27 | 6 11 52

oP

D >FAAEN A, -[(=EIA (R%ER) & D BUAHR) 0=ER

KOGRANEI



] ®AUKM SEVEE
) e
=] Fa-TH4Z
3
B % r AUKM [ | —[ ]—|
= 6
7 b 8 MEA TS,
> o D i
12 EHnC
Fu b Bk (ERD - %) FHF1—-TOHE
(15101 AW)
Tﬁf (mm)
HIfREI=F
AUKM #D
r_’ Hex.1
; M
Y R, B = O
ol W g
&
N e
wh Ly <
Hex.2/ | ¢P |\Rc
. . e WD | 3l 19778 BE
% = oD Rc M B E1 E2 A C oP Hex.1 | Hex.2 T1 | T2 (emm)| (g)
AUKM4-01-[] 4 Rc1/8 | M12X1 | 24.2 9 9 7 149 | 13.8 14 14 4 5 3 17
AUKM®6-01-[_] 6 Rc1/8 | M14x1 | 26.4 | 10.2 10 7 17 13.8 17 17 4 6 5 25
AUKM6-02-[] 6 Rc1/4 | M14x1 | 28.7 | 10.2 | 123 | 9.5 17 16.8 17 17 4 6 5 26
AUKM8-01-[] 8 Rc1/8 | M16X1 27 9.8 10 7 18.2 | 13.8 19 19 4 6 7 30
AUKMS8-02-[ ] 8 Rc1/4 | M16X 1 30 9.8 13 95 | 182 | 16.8 19 19 4 6 7 32
AUKMS8-03-[ ] 8 Rc3/8 | M16X 1 31 9.8 14 105|182 | 195 19 19 4 6 7 30
AUKM10-02-[] 10 Rc1/4 | M20X1 | 32.7 | 11.1 13 95 | 20.7 | 16.8 24 24 5 7 9 55
AUKM10-03-[] 10 Rc3/8 | M20X1 | 33.7 | 11.1 14 10.5 | 20.7 | 20.8 24 24 5 7 9 56
AUKM12-03-[] 12 Rc3/8 | M22X1 | 36.3 | 12.4 14 10.5 | 23.3 | 20.8 27 24 6 7 11 65
AUKM12-04- ] 12 Rc1/2 | M22%X1 | 39.3 | 124 17 13 | 23.3 25 27 24 6 7 11 67

~[=>\KA (B%ER) & D GUAHR)

DFR

KOGRANEI



| @ATL FENELS
b
R F1-TH4R

—a ATL — — D
6 1
D : ZHAHREOH

g 0 O): A (ER) & D GUAtHE) OER
~ BT iR U
fEAF 21— T D8

12

(142108 AW)

Tﬁf (mm)

TILR F1- 798 3D #7008 HE

A N i— £ W 222 2

ATL Y oD R O|A|B|L|eP|C|E LI @

ATL4-M5-D 4 |M5x0.8[ 28] 16 [182] 10 [14.9]17.7] 8 | 2.4 | 57

ATL4-M6-D 4 | M6x1 |38 20 [21.2] 10 (149187 10 | 2.4 | 80

ATL4-01-D 4 | Ri/8 | 8 | 222310 149187 10 | 28 | 10

ATL4-02-[] 4 | Ri/4 | 11 [ 29 | 28 | 10 [14.9/207| 14 | 28 | 18

ATL6-M5-D 6 |M5x0.8| 2.8 [19.5] 23 [125] 17 |20.3| 10 | 2.4 | 89

ATL6-M6-D 6 | M6x1 | 38[205] 23 [125| 17 |203] 10 | 3 | 80

ATL6-01-D 6 | RI/8 | 8 |225/248[125| 17 |20.3| 10 | 43 | 11

ATL6-02-(] 6 | Ri/4 | 11 | 28 [282[125| 17 |21.8] 14 | 43 | 19

ATL6-03-(] 6 | R3/8 | 12 [31.5(31.4[125]| 17 |238| 17 | 43 | 30

ATL8-01-[] 8 | RI/8 | 8 | 24 [27.3[145[181/227| 12| 6 | 14

ATL8-02-[] 8 | Ri/4 | 11 | 28 [29.2(14.5]18.1237| 14 | 6.7 | 20

ATL8-03-(] 8 | R3/8 | 12 | 31 |31.9]14.5(18.1|24.7| 17 | 6.7 | 31

ATL10-01-(] | 10 | R1/8 | 8 | 25 [29.8(17.5|20.2/1255| 12 | 6 | 18

ATL10-02-(] | 10 | Ri/4 | 11 |285|31.2(17.5/202| 26 | 14 | 8 | 23

ATL10-03-[] | 10 | R3/8 | 12 | 32 |34.4|17.5|20.2| 27 | 17 | 83 | 34

ATL10-04-] | 10 | Ri/2 | 15 | 36 |36.6(17.5|20.2/127.5| 21 | 83 | 57

ATL12-02-(] | 12 | Ri/4 | 11 |29.8(34.2] 21 234 29 | 14| 8 | 27

ATL12-03-[] | 12 | R3/8 | 12 [325|36.7| 21 |234/29.7| 17 | 10 | 38

mt ATL12-04-[] | 12 | Ri/2 | 15 |365/388 21 |23.4/30.7) 21 | 10.3 | 61
<% DSOS, - SWEA (BER) & D GURLE ORR

iR ‘S-S BUSTTOLTER. b URH I #OSETETT.

A—hKlRUEAT

KOGRANEI



@ATLL ANELS

Fa-TH4Z

Hw\'D |

T ATLL [ | — — D

R 6
8 D : ZHEEOH

O A (R#ER) & D (Bdmfs) OFR

=

10

12 i L

4 AT 21— 7T DHE
(145101BAV))
Tﬁﬁﬂ“mm
avoI)uik :
L F1-THB X0 | 1Y743E| B8
ATLL 7 =K ®D R A B L | pP | C E Hex. | (emm)| (2)
ATLL4-M5-D 4 M5X0.8| 2.8 | 28 |30.2| 10 |14.9|187| 8 | 24 | 6.4
\ ATLL4-01-D 4 R1/8 8 | 34| 35| 10 [149/18.7| 10 | 2.8 | 11
ATLL6-01-D 6 R1/8 8 | 37 |39.3[125] 17 |20.3| 10 | 43 | 13
ATLL6-02-[] 6 R1/4 | 11 |42.5|42.7|125| 17 |21.8| 14 | 43 | 20
ATLL6-03-] 6 R3/8 | 12 | 46 |459|12.5| 17 |238| 17 | 43 | 33
: ATLL8-01-] 8 R1/8 8 140.5/43.8|145(18.1|22.7| 12 | 6 16
o ATLL8-02-] 8 R1/4 | 11 |445|457|145|18.1|23.7| 14 | 6.7 | 22
= ATLL8-03-[] 8 R3/8 | 12 |47.5|48.4|145/18.1|247| 17 | 6.7 | 35
ATLL10-02-[ 1| 10 R1/4 | 11 | 48 |50.7|17.5/202| 26 | 14 | 8 | 26
ATLL10-03-[ 1| 10 R3/8 | 12 |51.5(539|17.5/202| 27 | 17 | 83 | 38
ATLL10-04-[ 1| 10 R1/2 | 15 |55.5(56.117.5/20.2| 27 | 21 | 83 | 63
ATLL12-02-[]] 12 R1/4 | 11 |52.8|57.2| 21 |234| 29 | 14| 8 | 30
ATLL12-03-[ ]| 12 R3/8 | 12 |55,5|59.7| 21 |23.4/29.7| 17 | 10 | 42
ATLL12-04-[ ]| 12 R1/2 | 15 |59.5(61.8| 21 |23.4[/29.7| 21 | 10.3 | 68

D SR D A, - J=>EEA (B%EM) & D (BhTHE) OFR
*T=R UM 7O LTER. BURETTROSETETT,

A—hKlRLEAT

KOGRANEI



OATT ANES

Fa-TH4Z

=Sl ‘

4 ATT — —D
= T L
8 D : 2RO A

R [: EEA (B%SR) & D (EmtH) OFER
12 ————&#kihl
— FRF1—TDHE

(121018 AW)

Tﬁf (mm)

Fa— .
p o F1-758 KD |17 | EE
ATT iz X ®D R A | B L [¢oP| C E | Hex. (omm)| (&)
ATT4-M5-D 4 [M5x0.8] 28] 16 [18.2] 10 [149]17.7| 8 | 2.4 | 8
ATT4-M6-D 4 | Mex1 |38 20 [21.2] 10 [149/187| 10 | 2.4 | 11
ATT4-01-D 4 | R1/8 | 8 [ 22| 23|10 149187 10 | 28 | 13
ATT4-02-] 4 | R1/4 |11 [ 29|28 |10 [149[20.7| 14 | 2.8 | 20
ATT6-M5-D 6 |M5x0.8]| 2.8 [19.5] 23 [125| 17 [20.25] 10 | 2.4 | 12
ATT6-M6-D 6 | M6x1 | 38 [20.5] 23 [125]| 17 [20.25] 10 | 3 | 13
ATT6-01-D 6 | R1/8 | 8 |225/24.8[125| 17 [20.25] 10 | 4.3 | 14
ATT6-02-[ | 6 | R1/4 | 11 | 28 [28.2[125]| 17 [21.75] 14 | 43 | 22
ATT6-03-[ | 6 | R3/8 | 12 [31.531.4[125| 17 [23.75) 17 | 4.3 | 33
ATT8-01-[ | 8 | R1/8 | 8 | 24 [27.3][145/18.1[227 12 | 6 | 19
ATT8-02-( | 8 | R1/4 | 11 | 28 [29.2(145/18.1|237| 14 | 6.7 | 25
ATT8-03-[] 8 | R3/8 | 12| 31 [31.9(145/18.1[24.7 | 17 | 6.7 | 35
ATT10-02-(] | 10 | R1/4 | 11 [285(31.2]17.5/20.2| 26 | 14 | 8 [ 31
ATT10-03-] | 10 | R3/8 | 12 | 32 [34.4(17.5/20.2| 27 | 17 | 83 | 42
ATT10-04-(] | 10 | R1/2 | 15| 36 |36.6(17.5/20.2|27.5| 21 | 83 | 65
ATT12-02-(] | 12 | R1/4 | 11 [29.8]34.2| 21 |23.4(28.95] 14 | 8 | 38
ATT12-03-[] | 12 | R3/8 | 12 [32.5(36.7| 21 |23.4|29.7| 17 | 10 | 48
mt ATT12-04-] | 12 | Ri/2 | 15 |36.5/38.8] 21 |23.4|307 | 21 | 10.3 | 72
< i% “DSBAMHEO S, - [SEIEA (BER) & D (BH{HH) OBR

A
ERNT ik, B URHIEOSETATT,
PR F—NRUSATOLTEE, BUBHIROESTATT

KOGRANEI



OATB ANELS

5
7 o
J $2-T44%
Z a ATB - —D
‘ . I
' 8 D : BHHHOH
0 O): SERA (BER) &D (Bt OBRR
12 & U

fERF 21— T DR

(121018 AW)

Tﬁf (mm)

IS UFF 14— y
T 370 | F7/ %] B =
ATB A ﬁ;g*ﬁ R | A|B|L1|l2|lerP| Cc|E fe’f ’(’ﬁ% %’5
ATBA-M5-D | 4 |M5x08| 2.8 |33.7|30.9|13.7]| 10 |149]172| 8 | 24 | 7.8
ATBA-M6-D | 4 | M6x1 |38 (382344172 10 |149/172 10 | 24 | 11
ATB4-01-D | 4 | R1/8 | 8 |402362| 19 | 10 [149/172] 10 | 2.8 | 13
ATB4-02-] | 4 | Ri/4 | 11 462|402 23 | 10 |14.9/192| 14 | 2.8 | 20
ATB6-M5-D | 6 |M5x08| 2.8 403|375 17 |125| 17 |205] 10 | 2.4 | 12
ATB6-M6-D | 6 | M6x1 |38 |41.3/37.5 17 |125| 17 205 10 | 3 | 12
ATB6-01-D | 6 | R1/8 | 8 |43.339.318.8(12.5| 17 |205| 10 | 43 | 14
ATB6-02-] | 6 | Ri/4 | 11 |488|42.7|222|125| 17 |205| 14 | 43 | 22
ATB6-03-] | 6 | R3/8 | 12 | 52 |45.7|252|125| 17 |215| 17 | 43 | 32
ATB8-01-L] | 8 | R1/8 | 8 469|429 20 |145|18.1|229| 12 | 6 | 19
ATB8-02-] | 8 | Ri/4 | 11 |51.7|45.7|22.8(145(18.1|229| 14 | 6.7 | 25
ATB8-03-] | 8 | R3/8 | 12 |554|49.1|262|145|18.1|229| 17 | 6.7 | 35
ATB10-02-L] | 10 | Ri/4 | 11 |54.7|48.7|225/17.5/202|262| 14 | 8 | 31
ATB10-03-[] | 10 | R3/8 | 12 |58.2|51.9/25.7|17.5|202|262| 17 | 8.3 | 42
ATB10-04-[]| 10 | Ri/2 | 15 |62.2| 54 |27.8(17.5|202/27.3 21 | 83 | 65
ATB12-02-[] | 12 | Ri/4 | 11 |60.3|542|23.7| 21 |234| 30 | 14 | 8 | 38
ATB12-03-[] | 12 | R3/8 | 12 |635|57.2|126.7| 21 |234|305| 17 | 10 | 48
ol ATB12-04-L]| 12 | R1/2 | 15 |67.5/50.3|28.8| 21 |23.4|30.7| 21 | 10.3 | 72
- ;% "D SERLED S, - SWEA (EER) £ D GEafHE) ORR
LT R P NBUAATD LSRG, BUBHEOEETETT,

A=kl ULEAT

KOGRANEI



5| @aTBY s
Z o
g F1-TH
7 §) 4 ATBY [ |—[ [—[ |
A4 ﬁl 6
8 WA LR,
TS D B a
2 L m@ALU
—_ ERF 21— TOHE
(142101 AV))
Tﬁf (mm)
ISUFTA I
ATBY A hdﬁ* R [A|lB|L|ePlC|JUlod F|T ﬁe’famj Efj
; ATBYA-M5-] | 4 |M5x08| 2.8 329301 10 149103 — | — | — | 8 |24 | 8
m“) ATBY4-01-_] | 4 | R1/8 | 8 |38.4|344| 10 149103 — | — | — |10 | 2.8 | 13
. ATBY4-02-1] | 4 | R1/4 | 11 |43.4]37.4] 10 [149103| — | — | — |14 | 2.8 | 20
\ ATBY6-M5-L] | 6 |M5x08| 2.8 |38.31355125| 17 125 — | — | — | 10 | 2.4 | 13
ATBY6-M6-_] | 6 | M6x1 | 3.8 |39.3]355/125| 17 [125] — | — | — | 10| 3 | 13
ATBY6-01-] | 6 | R1/8 | 8 |41.337.3/125 17 125 — | — | — | 10| 43 | 15
ATBY6-02-1] | 6 | R1/4 | 11 |483422(125| 17 125 — | — | — |14 | 4.3 | 22
ATBY6-03-1] | 6 | R3/8 | 12 |51.31449(125| 17 125 — | — | — |17 | 4.3 | 33
ATBY8-01-] | 8 | R1/8 | 8 46.142.11145/181145 — | — | — 12| 6 | 20
ATBY8-02-) | 8 | R1/4 | 11 4931433145181 145 — | — | — |14 | 6.7 | 25
ATBYS-03-] | 8 | R3/8 | 12 |525/462|145/18.1145 — | — | — 17 | 6.7 | 36
ATBY10-02-L] | 10 | R1/4 | 11 |536/47.6(175202(175 — | — | — |14 | 8 | 32
ATBY10-03-1 | 10 | R3/8 | 12 |56.750.4|17.5/202/175 — | — | — | 17 | 8.3 | 43
ATBY10-04-1 | 10 | R1/2 | 15 |602| 52 |17.5/202(175 — | — | — | 21 | 83 | 66
ATBY12:02-1 | 12 | R1/4 | 11 586|526 21 |234] 21 | — | — | — 14| 8 | 40
ATBY12-03-] | 12 | R3/8 | 12 |606/543| 21 |234| 21 | — | — | — [ 17| 10 | 51
ATBY12:04-1 | 12 | R1/2 | 15 |64.7/565) 21 |234] 21 | — | — | — | 21 |10.3| 74
COomEA (B £ D (GEmtth) OmR
ol SRS TOL TR, BB ROEETETT.

A—htlRUEAT

KOGRANEI



7| @ATBLY SEXES
> N
> Fa-TH4Z
oA — ATBLY [ |—[ ][ ]
v 6
2N WEA EES,
Z BT D i
T Y #&fHh
_— BRF 21— TDHE
(121018 AW))
AR (mm)
T7SUFIIVROA — o =
ATBLY B ok [ ¢7DM R |A| B |L* eplcC|y|E ME (’%Xm% %
ATBLY4-M5-[ ] M5X0.8|2.8| 20 205 2.4 11
ATBLYA-ME-_| |, [M6x1[38[21 |“™%) | | /18210 3
ATBLY4-01-[ R1/8 | 8 | 23 | 24 adle 59 |13
ATBLY4-02-[] R1/4 [11] 27 | 26 192/ 14| Y [ 20
ATBLY6-M5- ] M5x082.8/20.5| ,, 24 |12
ATBLY6-M6-[ ] M6x1|3.8/21.5 198/10| 3 |13
ATBLY6-01- ] | 6 | R1/8 | 8 [23.5/25.8/12.5/ 17 125 42 |15
ATBLY6-02-[ | R1/4 |11 ] 29 [29.2 218[14| . [ 22
ATBLY6-03-[] R3/8 |12]31.5/31.4 23817 | °° |34
ATBLY8-01-[| R1/8 | 8 | 25 |28.3 227/12] 57 | 20
ATBLY8-02-] | 8 | Ri/4 [11]29 30214.518.114.5(237| 14| _ . | 25
ATBLY8-03-[] R3/8 [ 12| 32 [32.9 247/17] "7 |37
ATBLY10-02-[| R1/4 |11 ]29.5/32.2 26 14| 8 |32
% ATBLY10-03-[]| 10 | R3/8 [ 12[325(34.9/17.520.217.5[ 27 [ 17| ., | 43
& ATBLY10-04-[| R1/2 |15| 37 |376 28 21| 7“ |66
o ATBLY12-02-[| R1/4 |11 [29.5] 34 282/14| 8 | 39
LL%’;R ATBLY12-03-[]| 12 | R3/8 |12/33.5/37.7| 21 [23.4] 21 292 17| 9.7 | 51
< i—tunlssy ATBLY12-04-[] R1/2 |15] 38 [40.3 302/ 21 106 | 74

~[O=>\CA (R%R) & D (BUaftHR) 0zER
*T=NRU A TDLTER. B URETUTROSETETY,

KOGRANEI



5| @ATBW ANELES
= o
> F1-FH4R
2 ATBW [ | —[ | —[ ]
2 4
B 6
7 WA ¢ R,
4 D Ehfti
BHAL
BAF2—TOHE
(1L10BAV)
Tﬁf (mm)
ISUFEIA
2 N F1-THE & A | A7 =
ATBW ¥ ® oD | R A| B[ LF]or|C | J 0 !l @
ATBW4-01-[ R1/8| 8 |38.9]34.9 12 26 | 16
ATBWa4-02-00 | % [Ri/4| 11 |42.4 364 | 100149110356 1 2
ATBW6-01-(]| 6 |R1/8| 8 |472|432| 13 | 17 |125| 12 | 52 | 25

-O=>@\iEA (Bfm) & D (BaftiR) ORR
*TF=NRUEATDLTER. A UBTUIROSETETT,

B
o
L S
A <
| v
R/ 70
H :$1
<

KOGRANEI



5| @ATBE EMES
= o
s F1-TH4R
i ATBE [ | —[]—[ ][]
U 8—4
7 8—6 WEA  IEES,
i) PP D &
EHLL
T 1— T DHHE D2
‘ #HF 21— T OHHE DI
(1L10BAV)
Tﬁf (mm)
IS5YFRUTIL F1-THE | F1-THE
2 . 1= 1= 3
ATBE B ® oDt | D2 | R | A | B | E L L2 | J |pP1|pP2| ¢P3
ATBE6-4-01- 6 4 [R1/8] 8 [65.4]184]32.1[29.3] 10 [125] , [125
ATBES-4-02-[] 4 11 |69.2]19.2] 32 [31.2] 10
ATBE8-6-02-[ 8 6 |"V4 11 1769 213|365 344 125 *°[125 140
ATBE10-8-03-(]| 10 8 |R3/8| 12 |87.8/23.7|/415| 40 |145/175/145] 18

N ;o L | Mk | BE
L) e c1 | c2 PR
ATBE6-4-01-[] | 17 [149] 12| 3 | 21
o ATBE8-4-02-[| | 181 149] ., | 3 |28
= ATBES8-6-02-[] | 18.1| 17 46 | 35

"‘l [a) ‘l“ - 9 = -
g}xx{}‘ﬂ ATBE10-8-03-[ ]| 20.2|18.1| 17 | 6.7 | 50

~OSREA (BER) £D (BHaftE) OB/R
‘F—/RUSATOLTER. B URHIEOSETATT.

ALl

KOGRANEI



|| @ATBEW ANELES
Z F1-TH(X
e =4 ATBEW [ | [ |—[ -]
Y 86
)7[: . 10-6 R R,
A - D : &t
g‘ .)\ | = #Hh U
W BAF 2 — T DHE D2
‘ BRAF 2 — 7 DHE DI
(1L10BAV)
Tﬁf (mm)
TSUFRNIUTILT T — —
ATBEW Rk *;’S?Mg{;gﬁ R|A|B|E |L1* 2| J |oP1|oP2eP3
ATBEW8-4-02- | R1/4] 11 |69.2 32 145
ATBEWS-4-03-11 | 4 TRasa[12 [722|192[57.7/312| 10 145 10 g
ATBEW8-6-02-[] ¢ |R1/4[11769], 1365/, : 14.5
ATBEW8-6-03-[] R3/8| ., [80.7]7 “[30.9 """ (25| 18
ATBEW10-6-03-[ ] s |R3/8 815|,,,882] o | :
ATBEW10-6-04-_) | R1/2| 15 |855|°“40.3 75 20
ATBEW10-8-03-[ ] g |R3/8[12(87.8],, 14156 , [, | "7, 18
ATBEW10-8-04-( | R1/2| 15 |91.8|°' 436 ' 20
. . WD 08 | BE
% % ct |2 "5 omm | (@)
ATBEWS-4-02- | 4ol 14| 5 |32
ATBEWB-4-03-(] | . | "7 17 46
ATBEWS8-6-02-_ : 14 41
6-¢D2 6-pP2 ATBEW8-6-03-[ 17117 | a6 |52
Ll ~+  ATBEW10-6-03-[ : 56
T T Q| ATBEW10-6-04-C] 21 78
. JL & 20.2
s et - ATBEW10-8-03-[ 147 g7 |65
i 01 AP r ATBEW10-8-04-[] 21 ' 87
o JU A COSERA (BER) D (ESHHE) OER
“F_ U EATOLTER. b URBHIEOSETATT.

KOGRANEI



5| ®ATBZ s
= o
J F1-TH4X
A — ATBZ [ |—[ |—[ ]
ES 4
k 6
4 EECA CEES
TS D B a
Erre e Efhl
- FHF1—-TOHE
(15101 AW)
Tﬁf (mm)
TSUFFT RS =T - Sl T
ATBZ mo% 7"1¢ 7D9Hi R A B L% | ¢P| C E ﬁ"_'ﬂ ?d))ﬁrxrix) (g?
ATBZ4-M5-[ ] M5x0.8| 2.8 | 20.3 205 2.4 10
ATBZ4-M6-[] 4 M6X1 | 3.8 |21.3 ’ 10 l14.9 18.2| 10 11
ATBZ4-01-[ ] R1/8 8 123.3|24.3 ’ 3 13
ATBZ4-02- ] R1/4 11 29 28 20.7 | 14 20
ATBZ6-M5-[ ] M5x0.8| 2.8 | 20.3 237 2.4 12
ATBZ6-M6-[ | M6X1 | 3.8 |21.3 ’ 20.5] 10 3
ATBZ6-01-[ | 6 R1/8 8 1233|255 (|125| 17 15
ATBZ6-02-[ | R1/4 11 28 | 28.2 21814 | 4.6 22
ATBZ6-03- ] R3/8 12 [31.5(314 23817 33
ATBZ8-01-[ ] R1/8 8 25 28.3 227112 6 20
ATBZ8-02- ] 8 R1/4 11 29 130.2(14.5/18.123.7| 14 6.7 25
ATBZ8-03-[ | R3/8 12 32 | 329 247\ 17 ’ 36
ATBZ10-02-[ ] R1/4 11 294|321 26 | 14 8 31
ATBZ10-03-[ ] 10 R3/8 12 33 [35.4(17.5/20.2| 27 | 17 8.3 42
ATBZ10-04-[ ] R1/2 15 37 |37.6 275 21 ’ 66
ATBZ12-02-[ ] R1/4 11 | 30.8|35.2 302 14 8 37
ATBZ12-03-[ | 12 R3/8 12 [33.5|37.7| 21 234 ’ 17 10 49
% ATBZ12-04-[ ] R1/2 15 38 |40.3 31.2121 | 10.3 74

A=bBUSAT  «[OomzRA (BER) & D (EHAE) OER
CFoNRUEATOLTER, BUBMIROSETETT,

KOGRANEI



ENES

]
EE
L
=
7 ASKR —
|
T
FXEODY A X
EHEh L1 X
YITALPF2—-THA4X
PO TN
1 kYA 7 5 3 T =
M8X1 (8) 84 | 86 — — —
M12x1(12) — | 126 | 12-8 [12-10| —
M14x1 (14) — — | 14-8 [14-10 | 1412
M18x 1 (18) — — — — |1812

T.riflzl (mm)

fREEL T 1 —Y

ASKR B "Ll;ém Mi | M2| B |E1|E2| Cc |G ;‘Eﬁﬂ j,j’zﬂ ﬁ(iﬁﬁf %j
ASKR8-4 4| o w26 | _ [118]149] , |14 | 14 | 56 [18
ASKR8-6 6 V141 | 28.1 139 17 17 117 [115 ] 29
ASKR12-6 6 Wi [28.1] 12 [ 99 | 17 | , | 17 | 17 13228
ASKR12-8 8 | wiaxt [wioxi 289 [11.7182 19 | 19 | 27.4 | 33
ASKR12-10 | 10 Ve | 32.3 1371207 5 | 22 | 24 | 348 | 57
ASKR14-8 8 Wi6x1 289 12 | 97 182 4 | 19 | 19 | 27.7 | 32
ASKR14-10 | 10 | W41 | M2xi | 382.3| 10 137207 | 5 | ,. | 24 | 41.7| 60
ASKR14-12 | 12 V22x1 | 349 12 | 13 233 6 27 | 547 | 74
ASKR18-12 | 12 | Wisxi | M2x1|34.9| 12 | 13 | 233 6 | 27 | 27 | 66.7 | 79

KOGRANEI



